K75-93

KOHOEHCATOPbl KOMBUHUPOBAHHBIE
C METANNMU3NPOBAHHbLIMU OBKINAOKAMU
METALLIZED FILM IMPREGNATED CAPACITORS

TexHu4yeckue ycnosus: PAAL.673641.020TY

MpegHasHavyeHbl AnsA

pabotbl B  uensAXx

NOCTOAHHOINO U nNynbCcupywLulero TOKOB U B

MMNYNbCHbIX peXumax.

MoryT npumeHaTbca B3ameH K75-15.

KoHcTpyKuus: repMeTU3NpPOBaHHbIE,

MeTannmM4yeckom Kopnyce.

HomuHanbHasi eMKOCTb
HomuHanbHoe HanpshkeHue
[onyckaemoe OTKINOHEHUE eMKOCTH
TaHreHc yrna notepb npu =50y
MocTosHHas BpeMeHn

MHTepBan pabounx TemnepaTyp
Hapa6oTtka

Cpok coxpaHsaemocTun
KnumaTtunyeckoe ncnonHexue

O603HayeHue npu 3akase:

M12

0,68... 1300 mk®
3..40kB
+10%; +20%
<0.004

> 500 MOM.mk®
-60...+55°C
50000 4

10 net

Y2 (no FOCT 15150-
69)

KoHpeHcaTop K75-93-5kB -15MK® - £10%

Specifications: PAAL.673641.020TY

Designed to operate in DC and ripple current
and in pulse mode.

Can be used instead of K75-15.

Design: metallic sealed housing.

- B >
Rated capacitance 0.68... 1300 pF
Rated voltage 3...40 kV
Capacitance tolerance +10%; £20%
Dissipation factor at f=50Hz <0.004
Time constant > 500 MOhm.pF
Operating temperature range -60...+55°C
Operating time 50000 hours
Shelf life 10 years
Climatic categories RH 98%. 35°C. 21 days

Ordering example:
Capacitor K75-93-5kV-15uF - £10%
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Dimensions, mm
ur, — L — A, h, Mass, g
KV Cr, uF L ~ Limit B ~ Limit H ~ Limit mm max max
discrepancy discrepancy discrepancy
ég 90 +1,75 50 1,25 200 45 11388
68 90 +1,75 150 2,3 2800
3 150 170 2,0 210 85 6000
140
330 20 460 13500
680 280 +2,5 170 - +3,15 140 27000
1300 420 +3,15 590 210 65 51000
68 | 99 1,75 l 1.5 200 45 1300
15 2,3 2000
90 +1,75
33 170 120 210 85 3900
5 68 - 140 270 2,5 7800
150 280 2,5 1315 290 +2,85 140 17000
330 420 170 - 440 210 38000
+3,15 +3,15
680 560 620 280 72000
2,2 90 60 +1,5 45 1300
47 | 110 .75 o0 175 200 23 55 2400
6,8 o 170 3200
10 15 170 2,0 250 +2,5 85 7200
140
33 20 14000
68 280 +2,5 170 - 490 +3,15 140 28500
130 560 +3,15 280 57000
1 90 +1,75 200 193 45 2000
2,2 90 +1,75 170 o 3200
47 170 +2,0 310 +2,85 85 75 5800
16 6,8 140 270 +2,5 7800
15 280 +2,5 +2,0 310 *2,85 140 18000
33 170 620 1315 36000
68 560 +3,15 e 280 72000
1 170 +2,3 3700
22 | 170 2,0 % .75 310 12,85 85 6100
24 47 140 400 +3,15 13000
6,8 280 +2,5 170 +2,0 310 +2,85 140 19000
15 420 +3,15 440 +3,15 210 38000
0,68 90 +1,75 5000
1| 170 2,0 0 270 2.5 85 7800
40 2.2 115 14000
4,7 280 +2,5 +2,0 490 1315 140 28000
6,8 170 - 42000
10 420 +3,15 620 210 54000

[onyckaemble napameTpbl MMMNYNIbCHOMO peXnMma onpeaensitoTcst COOTHOLLIEHUSIMMU:

Permissible parameters of pulse mode must not exceed the values calculated from the following
formulas:
18

F-z

24-10*-4U%-C, -F-Ig +1.2-4U%-C?>-F-R, /7 <20/R,,

1.1-4U-C, - |— <1,

T
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roe
AU - pazmax MMMNynbCHOro HanpsbkeHus, B;
F - JactoTta cnegoBaHus umnynbcos, u;
T—  ONUTENbHOCTb UMMYyNbCa TOKa Pa3psaku, C.
lo = 150A;

where
AU - amplitude of peak-to-peak pulse voltage, V;
F - pulse repetition rate;
7— discharge current pulse duration, s;
lo = 150A.

,El,onyCKaemaﬂ aMmnnnTyna nepemeHHon cwHycomp,aanoﬁ COCTaBnsatoLEen HanpsaXXeHna onpenendaeTca n3
COOTHOLUEeHuA

7U%,CF tg 8,+2(nUnFC)° Ra < 20 / Ry;
Un<0,2U;;
lims < lo,
rae lo = 150A;
Rr, tg 85, Ra - NapaMeTphl, ykasaHHble B TabnuLie:

Permissible amplitude of AC sinusoidal component of voltage at Tamb is expressed by

7U*,CF tg 64+2(nUnFC)? Ra < 20 / Ry;
Un<0,2U;
Irms—<|01
where |y = 150A;
Rr, 90, Ra - are parameters given in the table:
7U*CF tg 8,42(TU,FC)° Ra < 20 / Ry;

Un<0,2.U;
lims < lo,
Ur, kV Cr, uF RA*10°, Ohm RT, °C/IW tg 8g*10”

15 2,5 2,70
33 14 3,22
68 1,0 2,39
3 150 1,2 2,20
330 1,1 1,05
680 1,0 0,75
1300 1,0 0,41
6,8 3,2 2,80
15 1,8 3,22
33 1,2 1,77
5 68 14 1,74
150 1,0 1,15
330 0,9 0,53

680 1,1 0,30 3
2,2 9,5 2,80
47 5,0 2,71
6,8 3,5 2,14
10 15 4.1 1,87
33 2,3 0,98
68 1,7 0,70
130 2,6 0,37
1 22,1 3,22
2,2 11,3 2,14
47 5,7 1,23
16 6.8 10,5 1,74
15 5,0 1,08
33 2,8 0,56
68 2,1 0,30
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Ur, kV Cr, UF RA*10°, Ohm RT, °C/W tg 5g*10°
1 24,3 2,14
2,2 12,4 1,23
24 4,7 15,5 1,20
6,8 10,6 1,08
15 51 0,53
0,68 40,3 1,40 3
1 68,2 1,74
2,2 34,3 0,98
40 4,7 17,4 0,70
6.8 10,7 0,48
10 7,4 0,39
3aBucumocTb Hapa0dOTKHU 0T KO3 unuenta Harpy3ku K
Minimum operating time as a function of coefficient K
lg = (g N)
5(5.3)
47(50) F—————— l\
4.5(4.8)
4(43) N
3.5(3.8)
3(3.3) K
0.9 1 1.1 1.2

3HayeHUs HapaGoTKK ykasaHbil:

- B ckobkax ans Hapa6OTKI/I B MMmnynbcax;

- 6e3 ckobok A1s HapaboTkM B Yacax.
=AU/Ur)
U — paGoyee — NOCTOSIHHOE (MYyNbCUPYHOLLIEE) HANPsSPKEHME

Foe K=U/Ur (K

Minimum operating time given:

- in brackets in pulses ;

- without brackets in hours.
Where K=U/Ur (K=AU/Ur)
U — working - a DC (pulse) voltage
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MakcumanbHas amMnnuTtyga Toka pa3psaaku, A

Max. discharge current amplitude, A

Ur, kV Cr, uF Im, KA
15 0,6
33 1
68 2
3 150 3
330 7
680 15
1300 29
6,8 0,4
15 1
33 2
5 68 25
150 5
330 12
680 25
2,2 0,5
47 1
6,8 1,5
10 15 2
33 5
68 9
130 19
1 1
2,2 2
47 4
16 6,8 3
15 7
33 16
68 32
1 2
2,2 4
25 47 5
6,8 7
15 16
0,68 3
1 3
- 2,2 6
47 12
6,8 16
10 25
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